
1290 Super Duke R, black 2019 <2019><EU><F9903S9>
ABS

51369

Pos Part Number Description Additional Text Quantity

1 61642031144 ABS module filled 1.00

2 61342040000 SUPPORT ABS-MODULE 1.00

3 61342041000 Collar bushing 6.5X9X18X8.5 3.00

4 62142041000 DAMP. COMPONENT ABS MODUL 3.00

5 62113020100 banjo bolt M10x1x19.5 8.00

6 0603100141 sealing ring DIN 7603 10x14x1 ONLY FOR LC4
ADVENTURE

22.00

7 0025060206 HH collar screw M6x20 TX30 3.00

8 61342046000 Support ABS-pipe d7.5 3.00

9 0025060306S HH collar screw M6x30 TX30 1.00

10 61342001000 BRAKE HOSE HAND BRAKE CYLINDER 1.00

11 61342002000 BRAKE HOSE REAR BRAKE CONTROL 1.00



13 61342004010 BRAKE HOSE MODULE / CON. PIECE 1.00

14 61342004020 BRAKE HOSE CON. PIECE / R. CYL 1.00

15 69013025000 HOLLOW SCREW M10X1X19 SW12 2.00

16 76042125000 ABS-SENSOR 2.00

17 59009062013 SPECIAL SCREW M6X13 WS=8 10.9 1.00

18 0025060106 HH collar screw M6x10 TX30 2.00

19 60311051000 BRAKE LIGHT SWITCH REAR 1.00

20 61642003010 Brake hose 1.00

21 61642003000 Brake hose 1.00


